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5.3 D - Solving Trigonometric Equations

Homework: ¢ Section 5.3D
¢+ Quiz 5.1 - 5.3 Monday

Do Now:
Solve 2cosf—1=0 over [0,2nm)

A€o50 = |
cose =%
S |®

T

Homework Questions??
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Solving Multiple Angle Trig Equations

Solve: 2cos260—-1=0
Ato520 =1 A
0520 = % "‘ E

sl® o l }:—éw
= N4
1 @)=(131'+27T")3L 4 (2 (9)=(§_gr 1270 )%
|(0: T 47 |@-'- 2P 410

® Solve the equation for «“26 .
@ Set the angle values found equal to 26 and solve for “ &

What is the period of this function? 2‘51?'-' 2T=T
How does that connect to your solution? ¥ AbD 71 (of £77) Jo G&t
onr Solutions
We can check our solutions by graphing!

2

/\ (n/6, 0) /\ ?-nso/\
0
/ (576, 0) 176, 0

@ 2¢cos(2x) -1

ro
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Find all solutions in the interval [0,2mn):

3tan3x+3=0

3tundX =-3

o el =
a Tanax = -l

s |02 78 0= ZZ ;70
12 3
What is the period of this function? ¥
p f this fi Z..g_::;/{_ ﬁbbilgmqa‘
OMhtr Solvtions
1 4 i 4 ! 4 4
| 77/
I I | ’ 2%,
(n/a,0) | (7am2,0) (11mm2,0) | (181/12,0) (3112.0)  |/97 23
Tz’ 7
0 m3 2n/3 4n/3 5m/3 2n T
(5m/4,0) | |
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Find all solutions in the interval [0,2n):

sin® 2x +

sinzx (Sinz2x+\) =0

sin2x=10

SnaX+| =0

Sin2X =0 snzx =-l|

ﬂ\

~ -
l‘//O) ( 1,0 Y

WV

+ (2X50 +271n) %

X= o+Th

4\

(0,1
%@X)‘-‘(ﬂ"/ﬂﬂn)'f PR X)=(_3%l'+277,;) +
e Sl X= 3% +Tn
=37 7

What is the period of this function? %n - %y- -7

We can check
2 4

(m/2,0)

¥ 70 4<t all Soufiens

ADD MULTIPLET

our solutions by graphing! s

(7m/4,0) (2m,0)

(0.0)

4n/° ‘ k)
(r.0) | (3n/2,0)
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Solve the equation:

sm[fj R

2 2

N

- =1

5 N 73
Z(i-x)'-'(‘igﬂ'ﬂ?m)z 2 (i‘)@{égﬂ‘u?)n) 2
X= %F-f-"fﬂ'n‘ X= IQB]T + 477N

What is the period of this function? 21T - Qg = 4T
b

f (10m/3,0)
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Solve the equation:

cos2y(cosy—1)=0

(os2y =0 Cosy -1 =0
tosy =1
- >; :
\ (1,0)
3Tt )
y= I +mn
-75(25){3.;_"+211n)i ¥ period = 2= 2T
y= 3£.T/r+1rn

areo) \ (ms0)/ )

m 2m
| (

(5m/4,0) | (27,0)
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Find all solutions in the interval [0,2mn):

2tan()4 2
2

2tan*(£)= 6
Jran* )43

| tan (%)) =J3

o tan(%)= + V3
q
* pelied = 11‘ ;!E-"- T
P 3
dT. 2 = CIr
3 3
2
(2m/3, 0)

2 (i)

(4n/3,0)

e

% beyond 217

(555)

Vv

/
DO
4
\4

[

|

2n
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Closure....

Using the graphing calculator....

2¢c0s360—-1=0

200536 =1
tos36=%

What would the intersection of y =cos36 and y :% represent ?

What would the intersection of y =2cos36—1 and y =0 represent?

e

cos(3x)

N (n/9, 0.5) (7719, 0.5) (131/9, 0.5) A
| p= L (5m/9, 0.5) (1179, oé) (17779, 0.5
@ ' 2 5] 2n/3 \/ 4m/3 5n/
1
O 2cos(3v)-1/]
v=0 (117/9, 0) (17779, 0)
N :

-

(n/9,0) (679, 0 (7m/9, 0)
2mn/3

They both represent all of the solutions
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137t/9 0)

\

to original equation.



